
 

Urban Homework 2 

Study Figure 2, which shows the global distribution of mega cities in 1975 and 2014. 

 

1) Which of the following is correct (1)  

a) Megacities have a population of 100 thousand people 

b) Megacities have a population of 1 million  people 

c) Megacities have a population of 10 million people 

d) Megacities have a population of 100 million people 

 

2) Describe the changes in the number and distribution of megacities betweeen 1975 and 

2014 shown in figure 2 32) 

……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………… 

3) Suggest reasons for the difference in the rate of urbanisation in HICs and LICs (6) 

..……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………… 


